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(1) BROWR

BEA. BBfT - FF)

= 0FEE | nEE | 2EE | sEE | sEm | SOF
RENEE (7) 1,991,938 | 2,022,063 | 2,249,624 | 2,150,932 | 2,326,385 175,453
EXEINE 1,302,136 | 1,326,831 | 1,270,411 | 1,233,007 | 1,314,614 81,607
W ERIBRIN
(@IBEAE) 624,043 629,741 754,580 747,073 774,729 27,656
T OHEREEBINE 65,760 65,492 224,633 170,852 237,042 66,190
REER (1) 2,025,646 | 2032256 | 2,070,669 | 2,170,928 | 2,166,920 A4,008
EXEH 1,983,231 | 1,990,149 | 2,030,089 | 2,132,036 | 2,130,752 A1,284
w58 1,390,098 | 1,369,533 | 1,381,463 | 1,467,195 | 1,454541 | A12,654
HMEE 120,057 127,915 126,945 113,836 114,075 239
T -
EEREE 173,499 187,074 187,363 190,315 190,041 A274
#E 293,784 298,851 330,324 356,592 366,587 10,995
e E 5,793 6,776 4,003 5,097 5,508 411
BB 39,235 37,041 35,168 32,564 30,436 A2,128
TOMREEER 3,179 5,065 5412 6,328 5,732 A596
REEE (7—-1) A33,708 A10,192 178,955 A 19,995 159,465 179,460
fRiFER (D) A130 A461 A20 544 0 Ab544
SHEE (7-1+7) A 333837 A 10,6563 178,935 A 19,452 159,465 178,917
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(2) RENSBIEREHIE

an | BE9 1B mm w0 | w0 | SR lexERs
amm |20 | IE Irmmon| @) BTECO) TanT | o) |mrEe)
48 95.2 1534 733 93.7 46.9 40.6 1014 97.1
5H 109.7 164.4 81.1 72.3 55.9 314 102.0 97.3
6 H 109.6 149.1 83.8 64.5 534 44.8 105.4 98.1
TH 109.6 1591 81.1 85.4 32.7 235 104.0 97.0
8H 95.9 150.8 70.7 63.2 34.8 26.2 97.4 98.4
9H 87.1 156.5 66.5 60.8 294 28.0 97.0 98.2
10H 101.9 154.8 75.5 75.5 32.3 29.2 102.6 97.0
s 97.8 156.0 4.7 734 36.0 235 99.9 975
128 90.5 159.8 66.8 64.6 285 26.6 93.7 96.5
1H 86.1 1475 63.8 79.5 385 53.1 90.0 96.6
2H 81.5 151.3 66.5 575 46.6 A 925 96.5
3B 925 150.9 68.1 56.0 50.5 84.5 1121 97.3
E 95.1 161.0 2.7 68.3 385 38.2 107.4 97.3
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